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2 20,0008 * 201 * 212 840 900 A60
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= 125,760 126,607 A 84T
VBEFEEP TR 279,015 279,015 0
OZ2322 A 33,000& * 8,4550! 279,015 279,015 0
= 137,408 137,408 0
= 15,847 15,000 847
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= 392,702 850,000 N457,298
01 Al&HI 850,000 850,000 0
O ZRIZHEN A
2 & 657,298,000& * 14 657,298 200,000 457,298
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Z3A 40,0002 * 187.63Y 7,506 7,900 A394
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02 222%H| 5,130 5,400 A270
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=) AE 427,500 » 128 5,130 5,400 270
202 OdH] 4,275 4,500 A225
01 2oy 4,275 4,500 N225
OS2 X U=R KNES22IHH (20 arE2)
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NS I 9,335,090 9,520,045 A 184,955
[ 211,074 209,298 1,776
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Olger=2H|] 12,137 13,400 ~1,263
OHAYSE U HIAHADENES MAXP2(
SHAREZRE 750002 *x 85 x 6.0618tA 3,637 4,900 A1,263
B A2Ie Xpakzte) 2,850 3,000 A 150
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01 2o 2,850 3,000 A 150
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ES = 3,059 3,220 A 161
201 LEt2HH| 2,339 2,500 A 161
01 AFRZ2lH] 1,539 1,700 A161
Olggtx=2Hl] 1,539 1,700 A 161
OSYZHI LEHS 2 DXMH UM (=20
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= 211,074 85,298 25,776
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ME X 673,751 649, 157 24,594
& 153,751 129,157 24,594
= 520,000 520,000 0
307 GI12+0I & 673,751 649, 157 24,594
& 183,751 129,157 24,594
= 520,000 520,000 0
00 2AAHSES 673,751 649, 157 24,504
OS0=HA HEXAZ
Z2& 673,751,000& * 14 673,751 649, 157 24,594
& 153,751 129,157 24,594
= 520,000 520,000 0
a8 401,323 400, 141 1,182
= 39,323 38, 141 1,182
2 362,000 362,000 0
307 212t01& 401,323 400, 141 1,182
= 39,323 38, 141 1,182
= 362,000 362,000 0
09 2HAHEX= 401,323 400, 141 1,182
OHXcd aMBAS
2 & 401,323,000& * 14 401,323 400, 141 1,182
= 39,323 38, 141 1,182
2 362,000 362,000 0
SR 6,270,000 6,600,000 330,000
307 PI2H0IH 6,270,000 6,600,000 330,000
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= 18,000 18,000 0
= 18,000 0 18,000
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O NEusSoHtd JIZ2H e+ EH
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Oz nNEASE (20 aEL)
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OLFAS) E=WHM(20A&EZ)
2 1,080,000& * 46.250H A& 49,950 54,000 24,050
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401 Al EHIL 201 3,180 4,010 A830
01 Al&HI 3,180 4,010 A 830
O[AI&Hl] 3,180 4,010 A 830
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401 A EHIL 201 29,450 31,000 A 1,550
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OULSUHNMEEHI(OFZELAIXIS ) (20U A E )
28 62,5003 * 167.204 10,450 12,000 A 1,550
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201 Ysr2 o] 14,471 8,131 6,340
01 At 22lt] 11,680 5,700 5,980
OUE&E LRLY(HENS FL2240
) 49,8338 + 19! * 1202 5,980 0 5,980
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